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L=180m

W=4.0m

L=40m

A=725

L=24m
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04

05 04 01

04 10

04 10
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H00100

H00200

01

K0002

Q00001




117 1
01 K0002
1
U005000
1
V300180
1
W104010
1
SP210100-0002
-1- -1
60 m3
W200014
1
SP210030-0002
-1- -1
50 m3
SP210410-0001
m 4m -1- -13
20 m3
W604008
1
SP210520-0001
2.5m -1- -1
4 m3
W201006
1
10003
80 m3
V100650
1
W108070
1
SP430510-0001
15cm -3- -1
3
SP430310-0001
15cm -3- -1
87 m2
SP430510-0002
15cm -3- -1
5
SP430310-0002
15cm -3- -1
8 m2
$824010-0001
-1- -1
1 m3




117 1

2 10001
As
4 m3
3 10002
Co
1 m3
4 10004
Co
1 m3
9 SP222770-0002
50 150mm -2- -1
2
V700040
1
W501022
1
5 10016
H=1000
25
W508020
1
6 10021
H=700
22
V500010
1
W208012
1
] 7 10025
300x 300
28
] 8 10026
300x 300
7
U 9 10030
3008
5
W202048
1
10 10031
300x 300
4
W000038
1
10 SP222770-0001
50 150mm -2- -1
3
11 SP222770-0003
50 150mm -2- -1
2




117 1 3

V500310
1
W000022
1
( )1 50mm 12 SP410260-0001
13) -1- -1
3.0m 2.35 725 m2
( ) 13 SP410040-0001
100mm 1 -1- -1
M-30 133 m2
( ) 14 SP410030-0001
120mm 1 -1- -1
RC-40 133 m2
15 SP410330-0001
140cm2 155¢cm2 -1- -1
(13) C ) 109
108122
1
2 $410820-0001
10cm -1- -5
AS : 18-8-25(20) 6 m2
V500290
1
W804020
1
( ) 3 $810510-0001
Gr-C-2B -2- -1
21 100 24
11 10039
D13
12
U005000
1
V100050
1
W000042
1
4 $S010210-0001
-5-21-1
P0000001
HO3701
1
( ) H00803
1




117

Q00910

HO0600

Q00601

HO0500

Q00501

HO0400

Q00401

Q00402




117 1 3

10003
1
100 m3
16 SP210110-0001
0.8m3(  0.6m3) -1 -1
4.0k DID « ) 100 m3
17 SP210610-0001
-1- -1
100 m3
P0O000001
P0000002




117

10001
2 As
100 m3
18 SP227010-0001
15cm -2-25-1
2.0km DID 100 m3
TZA17010001
As P135
235
P0000001
P0000002




117

10002
3 Co
100 m3
( 19  SP227010-0002
-2-25-1
1.6km DID 100 m3
TZA17010003
Co [ ] P135
235
P0000001
P0000002




117

10004
4 Co
100 m3
( 20 SP227010-0003
-2-25-1
1.6km DID 100 m3
TZA17010002
Co [ ] P135
250
P0000001
P0000002




117

10016
5 B H=1000
10
0.8m 1.0m 21 SP226311-0001
2- -1
18-8-25(20)  60% 8 m3
22 SP210080-0001
-1- -1
14 m2
P0O000001
P0000002

10




117

H=700

10

10021

(600 1000mm 50-150kg

)

10

23 SP422510-0001
-2- -1

SP422510

P0000001

P0000002

11




117 1

10025
7 U 300% 300
10
5 $821410-0002
L=4000mm 1000kg/ 1- -1
10
6 $821430-0004
390x 100x 600mm - -
8
7 $821430-0005
390x 100x 600mm - -
6
8 $821430-0003
40kg/ 1- =2
1
22 SP210080-0001
-1- -1
5 m2
P0000001
P0000002

12




117 1 3

10026
8 U 300x 300
10
9 $821410-0004
L=4000mm 1000kg/ 1- -1
10
10 $821430-0007
40kg/ -1- =2
20
22 SP210080-0001
-1- -1
5 m2
P0O000001
P0000002

13



117 1 3

10030
9 u 3008
10
11 $821410-0003
3008 300x 300x 600 - -1
10
12 $821430-0006
40kg/ -1- =2
10
22 SP210080-0001
-1- -1
4:8 m2
P0O000001
P0000002

14



117

10031
10 300x 300
10
24 SP222800-0001
200kg 400kg 2- -1
10
u L0021
300x 300
10
8  $821430-0003
40kg/ -1- -2
10
25  SP240010-0001
4- -1
18-8-25(20) 0:11 m3
22 SP210080-0001
-1- -1
4:69 m2
P0000001
P0000002

15




117 1
10039
11 D13
10
( 10t 13 $810010-0001
( 2- =2
0% ( ) SD-295 D13mm 03
P0000001
P0000002

16




117 1 3

$824010-0001

1
( , )
( -1- -1 , ) 1 m3
TQ001611007
( ) P16
1 m3
23000004
1
P0O000001
P0000002
1
[Al= 2 Bl1=1
[cl1= 3 [0] = 2
[E]= 2

17




117 1 3

$410820-0001

2 10cm
(AS ,18-8-25(20)
( -1- -5 ) 100 m2

TRO125
P1
TRO101
P1
TR0102
P1
TZA04220150

18-8-25(20) P26

10:4 m3

TZ004130002

PK-3 - P49
TZ001450009

6.0x 150x 150 P116
100 m2
79000004
P0000001
P0000002
1

[A] = 10.000 cm [B] = 2 AS

[K] = 2 [yi] =1 (PK-3)

[N1] = 2 18- 8-25(20) [Ny] =1

[N3] =1 [C] = 100.000 m2

[D] = 0.000 [E] = 0.000 /100m2( )

[F] = 0.000 [H] = 0.000 ( )

[J] = 0.000 )

18




117

$810510-0001

3 ( Gr-C-28
21 100 , )
-2- -1 , ) 1
TQ001103003
Gr-c-28B ( ) P20
1
73000004
1
P0000001
P0000002
1
[A] = 12 Gr-C-28 [B] = 4 21 100
[c]1= 1 [b]= 1
[El1=1 [Fl= 1 ‘L=

19




117

$010210-0001

( -5-21-1 1
TRO804
P2
73000004
1
P0000001
P0000002

[B] =

2

20




117 1 3
$821410-0002
5 L=4000mm 1000kg/
, )
-1- A1 , ) 10
U TQ001365003
L2000 1000kg ( ) P16
10
(120x 150) TZA04020002
(4-30) 300x  300x 4000 P32
2.5
12002122003
RC-40 P5
0:804 m3
73000004
1
P0000001
P0000002
[ 1
[A1=1 [B] = 3 L=1.0m 4.0m 5.0m L=4,000mm
[c]1= 2 [D] = 55 U
[E]1= 3 L=2000mm 1000kg/ [F]1= 3
[c1=1 M =1
[11= 5 40 0 [J]1 = 0.670, m3
[K] = 2.500

21



117

390% 100x 600mm

$821430-0004

170kg

TQ001367002
( )Pis

390x 100x 600mm

TZA04150023
P35

23000004

P0000001

P0000002

[ 1
[A]= 1 [B] = 21 390x 100x 600mM
[c]= 2 40 170kg/ [0] = 3
[E]l= 2 [Fl=1

22




117

390% 100x 600mm

$821430-0005

170kg

TQ001367002
( )Pis

390x 100x 600mm

TZA04150024
P35

23000004

P0000001

P0000002

[ 1
[A]= 1 [B] = 22 390x 100x 600mM
[c]= 2 40 170kg/ [0] = 3
[E]l= 2 [Fl=1

23




117 1 3
5$821430-0003
40kg/
-1- -2 , 1
TQ001367001
40kg ( ) P18
1
L0014
390% 100x 600 T-25
1
73000004
1
P0000001
P0000002
]
[A] = 1 [B] = 32
[c]1=1 40kg/ [0] = 3
[E]= 2 [F1=1

24




117 1 3
$821410-0004
9 L=4000mm 1000kg/
, )
-1- -1 , ) 10
U TQ001365003
L2000 1000kg ( ) P16
10
(D150x 150) TZA04020004
(D4-30) 300% 4000 P33
25
72002122003
RC-40 P5
0:84 m3
73000004
1
P0000001
P0000002
[ 1
[A] = 1 [B] = 3 L=1.0m 4.0m 5.0m L=4,000mm
[c]1= 2 [D] = 55 U
[E]= 3 L.=2000mm 1000kg/ [F]1= 3
[c1=1 M =1
[11= 5 40 0 [J] = 0.700 m3
[K] = 2.500

25




117 1 3

$821430-0007

10 40kg/
( ,
( -1- -2 , ) 1
TQ001367001
40kg ( ) P18
1
L0001
410x 95x 500 T-25
1
73000004
1
P0O000001
PO000002
[ 1
[A] = 1 [B] = 32
[€]=1 40kg/ [0] = 3
[E]= 2 [Fl=1

26




117 1 3
$821410-0003
11 300B 300x 300x 600
)
) 10
U TQ001365001
L600 60kg ) P16
TZ002306003
300B 300x 300x 600 P31
77002122003
RC-40 P5
73000004
P0000001
P0000002
1
[Al=1 = L=1.0m 4.0m 5.0m
[€C]= 2 = 3008 30
[El1=1 L=600mm 60kg/
[61=1 =
[11=25 = m3

[K] = 16.700




117 1 3

$821430-0006

12 40kg/
( ,
( -1- -2 , ) 1
TQ001367001
40kg ( ) P18
1
. L0020
300 T-2
1
73000004
1
P0O000001
PO000002
[ 1
[A] = 1 [B] = 32
[€]=1 40kg/ [0] = 3
[E]1= 2 [F1=1

28




117 1

$810010-0001

13 ( ) 10t )
10% ( ) ,SD-295 D13mm
-2- -2 1
TQ001001002
( ) P19
( ) 1
TZA03010046
SD295 D13 (5t ) P12
1:03
73000004
1
P0000001
P0000002
]
[A] = 2 SD-295 D13mm [yll] =1
[H1=1 [B] = 2 10t
[cr1=1 [0y =1
[E]=1 [F1=1 10% ( )
[c1=1

29



117 1
SP210100-0002
1
1 m3
-1- -1
) (D)
2 TM502002121
0.28m3(  0.2m3) P2-10
«C D TRO114
P1
TZ006702002
1.2 P106
1
[01] = 1 [32] =
[36] =7

30




117 1

SP210030-0002

1 m3

()

0.28m3(  0.2m3)

TM502003121
p2-12

TRO114
P1

TRO102
P1

1.2

TZ006702002
P106

[31] = 1

2]

[J5] = 1

31




117 1 3

3 m

4m

SP210410-0001

1 m3

()

12
0.8m3( 0.6m3)

TM502002521
P2-10

( ) ]
0.8 1.1t

TL001070002
P122

60 80kg

TL001180001
p127

TR0102
P1

TRO101
P1

TRO114
P1

1.2

TZ006702002
P106

TZ006704001
P106

[J1] = 3 im 4m

[34]

32




117

SP210520-0001

1 m3

()

0.8 1.1t

TL001070002
P122

TR0102
P1

TRO101
P1

1.2

TZ006702002
P106

01 =1 2.5m

33




117

15cm

SP430510-0001

()

@ 56¢m 20cm

TM11001212
P2-83

TRO101
P1

TRO125
P1

TR0102
P1

22

TZ006540003
P107

TZ006704001
P106

[J11 = 1
[35] = 1

2]

15cm

34




117

SP430310-0001

6 15cm
1 m2
-3- -1
) (D)
( ) TL001010003
0.45m3( 0.35m3) P124
TRO125
P1
C D TRO114
P1
TRO102
P1
TZ006702002
1.2 P106
1
[b1] =1 2] =
[33]1=1 [34] = 15cm
[J6] = 1 [37] =

35




117

15cm

SP430510-0002

()

@ 56¢m 20cm

TM11001212
P2-83

TRO101
P1

TRO125
P1

TR0102
P1

22

TZ006540003
P107

TZ006704001
P106

[J1] = 2
[J5] = 1

[33]

15cm

36




117

SP430310-0002

8 15cm
1 m2
-3- -1
) (D)
( ) TL001010003
0.45m3( 0.35m3) P124
TRO125
P1
C D TRO114
P1
TRO102
P1
TZ006702002
1.2 P106
1
[1] = 2 2] =
[33]1=1 [34] = 15cm
[J6] = 1 [37] =

37




117 1
SP222770-0002
9 50 150mm
1
oo -1 ,
) (%)
TR0102
P1
TR0125
P1
[ 1
[J1] = 2 L2 -
[33]1 =1 50 150mm L5] =

38




117 1 8
SP222770-0001
10 50 150mm
1
( -2- -1 , )
©) O]
TR0102
P1
TR0125
P1
TZ005002005
VP-75 -
[ 1
1] =1 LA
[33]1 =1 50 150mm L5] =

39



117 1
SP222770-0003
1 50 150mm
1
2- -1
@) ®)
TR0102
P1
TR0125
P1
T2005002008
VP-150 -
[ 1
[J1] = 1 L2 -
[33]1 =1 50 150mm L5] =

40




117 1 3

SP410260-0001

12 ( )1 50mm (13)
( 3.0m , 2.35) 1 m2

()

[ ]

2.3 6.0m

TL001210002
P123

8 20t

TL001060003
P122

10 12t

TL001050002
P123

TR0102
P1

TRO101
P1

TRO114
P1

TRO125
P1

13)

Tz004100004
P46

[

PK-3 -

1.2

1
[J2] = 50.000 mm

[J1]

3.0m

TZ004130002
P49

TZ006702002
P106

[AL] = 2
[J6] = 1

13)

[34]

K-3

41




117 1

13

100mm 1

SP410040-0001

1 m2

()

3.1

TM50700022
P2-64

10t 2.1m

TM50800022
P2-66

8 20t

TL001060003
P122

TRO114
P1

TRO101
P1

TR0102
P1

TRO125
P1

T2002124002
P5

[

1.2

]

[J1] = 10 M-30

[35] = 1 1

[34]
[37]

= 100.000 mm
=1

TZ006702002
P106

42




117 1

14

120mm 1

SP410030-0001

1 m2

()

3.1

TM50700022
P2-64

10t 2.1m

TM50800022
P2-66

8 20t

TL001060003
P122

TRO114
P1

TRO101
P1

TR0102
P1

TRO125
P1

RC-40

T2002122003
P5

[

1.2

1
[J1] = 120.000 mm

[J3] = 6 RC-40

2]
[34]

TZ006702002
P106

43




117

15

(€))

140cm2

155¢cm2

(

SP410330-0001

()

TM103000121
P2-19

4 4.5m3/

TM11001412
p2-78

TR0102
P1

TRO125
P1

TRO101
P1

TRO115
P1

13)

TZ004100005
P46

1.2

TZ006702002
P106

[J1] = 2
[33] = 1

155cm2

[A1]

13

TZ006704001
P106

44




117 1
SP210110-0001
16 0.8m3(  0.6m3)
(4.0km DID « ) 1 m3
( -1- -1
) (D)
TM103000521
10 p2-19
«C D TRO115
P1
TZ006702002
1.2 P106
1
1] =1 [321 = 0.8m3(  0.6m3)
[33]1 =1 ( [J4] = DID DID
[J5] =7 4.0km

45




117

17

SP210610-0001

1 m3

()

0.8m3(

( )
0.6m3)

]

TL001010007
P124

TRO114
P1

1.2

TZ006702002
P106

[011 =1

46




117 1
SP227010-0001
18 15cm
(2.0km DID « ) 1 m3
( -2-25-1
(D) (D)
TM103000521
10 P2-19
« ) TRO115
P1
TZ006702002
1.2 P106
[ 1
[J1] = 3 [J2] = 2 15cm
[33]1 =1 DID DID [J8] = 3 2.0km
[3J]1 =1

47




117 1
SP227010-0002
19 « )
(1.6km DID ) 1 m3
( -2-25-1 )
) (D)
TM103000521
10 p2-19
«C D TRO115
P1
TZ006702002
1.2 P106
[ 1
P =1 ( [32] =
[J3]1 =1 DID DID [JE] = 1.6km
[3J] =1

48



117 1
SP227010-0003
20 « )
(1.6km DID ) 1 m3
( -2-25-1 )
) (D)
TM103000521
10 p2-19
«C D TRO115
P1
TZ006702002
1.2 P106
[ 1
P11 =2 ( [32] =
[J3]1 =1 DID DID [JE] = 1.6km
[3J] =1

49



117 1

SP226311-0001

21 0.8m  1.0m « )
(18-8-25(20)  60% , 1 m3
( -2- -1 ,
) (D)
12011 TMB02006721
0.45m3( 0.35)2.9t p2-13
« )
TR0133
P1
TR0102
P1
TR0125
P1
«C D TRO114
P1
« )
TZ002012001
18-8-25(20) 60% p27
TZ006702002
1.2 P106
« )
1
[J1] = 3 0.8m  1.0m [N1] = 32 18-8-25(20) W/C60%
[33] = 2 [34] = 1
[J5] = 1 D) [N3] = 1
[N4] = 1

50




117

22

SP210080-0001

1 m2

()

TR0102
P1

51




117 1 3

SP422510-0001
23 (600 1000mm 50-150kg )
( , ) 1
( -2- -1 . )

() ()

C ) TL001011005
0.09m3(  0.07m3) 0.9t P124

TRO101
P1

TRO102
P1

TRO125
P1

L0005
H=700 135kg/

TZ006702002
1.2 P106

[ 1
[J11 =1 [32] =6 (600 1000mm 50-150kg )
[J3] = 1.000 m [J4] = 4
[N1] = 8

52




117 1 3

SP222800-0001

24 200kg 400kg
1
2- -1
(D) (D)
( ) 1 TL001010008
0.28m3( 0.2m3)1.7t P124
« )
C D TRO114
P1
TR0102
P1
TRO125
P1
TRO101
P1
« )
TZ006702002
1.2 P106
« )
1
[b1] =1 [32] = kg/ ) 200kg 400kg
[33] =1 [J4] =

53




117 1
SP240010-0001
25
(18-8-25(20) ) 1 m3
( -4- -1 )
(D) ()
TR0102
P1
TRO101
P1
TRO125
P1
« )
TZA04220150
18-8-25(20) P26
1
[0 = 1 [J91 =3
[N1] = 45 18-8-25(20) [J5] =2
[J7] = 2 [J8] =1
N3] = 1 4] = 1

54




117 1
L0001
410% 95x 500 T-25
L0005
H=700 135kg/
L0014
390% 100x 600 T-25
U L0020
300 T-2
U L0021
300x 300

55
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